

<u>Deadline – September 20, 2017</u> SPENCER COUNTY FARM BUREAU

PO Box 385

Taylorsville, KY 40071

Fax (502) 477-0555 Phone (502) 477-2275

Name <u>Donna Lawson</u> Phone (502) <u>(664-4402</u> Home Address <u>PO Box 331</u>
21M 605
city Taylorsville KY zip Code 40071
School SCES Subject & Grade Level
Address 1265 Mt. Washington Rd. Phone (502 477-6950
city Jaylors ville Ky zip code 40071 # Students 23
Core Subjects to be addressed
On a separate piece of paper include the following:
Summary of proposal and learning objectives: Be specific in linking agriculture to core subjects through the Mini-Grant. Explain how you will distinguish the activity from regular, ongoing instruction.
Budget: Please include a detailed breakdown of expenses for supplies, transportation, etc.
Each recipient will be responsible for giving a report to Spencer County Farm Bureau upon the successful completion of their project.

Duminary of proposal and learning objectives: Be specific in linking agriculture to core subjects through the Mini-Grant. Explain how you will distinguish the activity from regular, ongoing instruction.

K-LS1-1 From Molecules to Organisms: Structures and Processes Use observations to describe patterns of what plants and animals (including humans) need to survive.

LS1.C: Organization for Matter and Energy Flow in Organisms All animals need food in order to live and grow. They obtain their food from plants or from other animals. Plants need water and light to live and grow.

Budget:

- \$5.48 x 3= 16.44 Product Title Sun Joe Flower Box Holder, Black
- 4.27x3= 12.81 Product Title Miracle-Gro Potting Mix 8 OT
- 1.89 x 50= 94.50



Product Title Clay Orchid Pot - 4.25" x 3.5" - Terra Cotta - Unglazed

\$3.65
Flower and grass seeds.

1.50 x 25= 37.50 Gourds

La Crosse Technology Wireless Thermometer \$11.54



<u>Deadline – September 20, 2017</u> SPENCER COUNTY FARM BUREAU PO Box 385

Taylorsville, KY 40071 Fax (502) 477-0555 Phone (502) 477-2275

Name Rebekah Ingram * Phone (502) 321-6450 Home Address 12638 mt. Eden Rd
City ME. Eden Zip Code 40046
School Spencer Co. Elementery Subject & Grade Level K
Address 1265 mt Washington Rd Phone (502) 477-6950
City Taylorsville Ky zip Code 4007 # Students 25 Core Subjects to be addressed Science & math
On a separate piece of paper include the following:
Summary of proposal and learning objectives: Be specific in linking agriculture to core subjects through the Mini-Grant. Explain how you will distinguish the activity from regular, ongoing instruction.
Budget: Please include a detailed breakdown of expenses for supplies, transportation, etc.
Each recipient will be responsible for giving a report to Spencer County Farm Bureau upon the successful completion of their project.

Summary of proposal and learning objectives: Be specific in linking agriculture to core subjects through the Mini-Grant. Explain how you will distinguish the activity from regular, ongoing instruction.

K-LS1-1 From Molecules to Organisms: Structures and Processes Use observations to describe patterns of what plants and animals (including humans) need to survive.

LS1.C: Organization for Matter and Energy Flow in Organisms All animals need food in order to live and grow. They obtain their food from plants or from other animals. Plants need water and light to live and grow.

Budget:

- \$5.48 x 3= 16.44 Product Title Sun Joe Flower Box Holder, Black
- 4.27x3=12.81 Product Title Miracle-Gro Potting Mix 8 OT
- 1.89 x 50= 94.50



Product Title Clay Onchid Pot - 4.25" x 3.5" - Terra Cotta - Unglazed

\$3.65 Flower and grass seeds.

1.50 x 25= 37.50 Gourds

La Crosse Technology Wireless Thermometer \$11.54



<u>Deadline – September 20, 2017</u> SPENCER COUNTY FARM BUREAU PO Box 385

Taylorsville, KY 40071

Fax (502) 477-0555 Phone (502) 477-2275

Name Susan Tappan Phone (502 594-1881) Home Address 247 Hardwood Dr. City Mt. Washington, Ky zip Code 40047 School Spencer Co, Elem, Subject & Grade Level Kindergarten Address 1265 Mt Washington Rd Phone (502 477-16950) City Taylorsville, Ky zip Code 40047 # Students 23 Core Subjects to be addressed Science On a separate piece of paper include the following:
Summary of proposal and learning objectives: Be specific in linking agriculture to core
subjects through the Mini-Grant. Explain how you will distinguish the activity from regular,
ongoing instruction.
Budget: Please include a detailed breakdown of expenses for supplies, transportation, etc. \$7 per child for Bernheim Class
pri per chira for bernheim class
approx \$8 per child for bus
\$15 x 23 = \$345
Amount overgrant covered by parents.
Each recipient will be responsible for giving a report to Spencer County Farm Bureau
upon the successful completion of their project.

Farm Bureau Mini-Grant Proposal 2017:

Our kindergarten will take a field trip to Bernheim Forest in the spring. They will participate in a Guided Habitat Learning Experience, encounter real-life animals and plants, make observations, and have hands-on experiences in the Nature Center. They will do the "I Spy Trail" to look for specific nature items and plants.

Before the trip, we will read and do research about habitats and after the trip we will write about what we learned. Even though our students live "in the country", many of them don't get these outdoor experiences often enough.

Thanks for giving me the grant last year and since it was so close to the end of the year, I didn't get a chance to do a report---but it was fantastic! The kids really enjoyed learning outside in nature and the guided walk was informative.

Thanks for your consideration for this year!

Susan Tappan



<u>Deadline – September 20, 2017</u> SPENCER COUNTY FARM BUREAU PO Box 385

Taylorsville, KY 40071 Fax (502) 477-0555 Phone (502) 477-2275

Name Michale Hutchins Phone (502) 122-0719 Home Address PO Box 726 City Taylorsville Zip Code 40071 School Spencer Co Elem Subject & Grade Level Kindergarks Address 1265 Mt Washington Rd Phone 604 477-0950 City Taylorsvillo Zip Code 40071 # Students 25 Core Subjects to be addressed Science
On a separate piece of paper include the following:
Summary of proposal and learning objectives: Be specific in linking agriculture to core subjects through the Mini-Grant. Explain how you will distinguish the activity from regular, ongoing instruction.
Budget: Please include a detailed breakdown of expenses for supplies, transportation, etc. ### The Control of Miller Transportation ###################################
Each recipient will be responsible for giving a report to Spencer County Farm Bureau upon the successful completion of their project.
All ad Va

Farm Bureau Mini-Grant Proposal 2017:

Our kindergarten will take a field trip to Bernheim Forest in the spring. They will participate in a Guided Habitat Learning Experience, encounter real-life animals and plants, make observations, and have hands-on experiences in the Nature Center. They will do the "I Spy Trail" to look for specific nature items and plants.

Before the trip, we will read and do research about habitats and after the trip we will write about what we learned. Even though our students live "in the country", many of them don't get these outdoor experiences often enough.

Thanks for giving me the grant last year and since it was so close to the end of the year, I didn't get a chance to do a report---but it was fantastic! The kids really enjoyed learning outside in nature and the guided walk was informative.

Thanks for your consideration for this year!

Nichole Hutchins